FREQUENCY RRBSPONSE

TISVHON\EWO‘QIT 1’2./’2,/07
: Cl
O
l ! e
S[ (( R%_E' QL lCL No‘ét‘.’- B\~J Cw‘ch‘z
Lv-»' V&Bg Re -—. ﬁ\'e,a\he.»i J_‘ we

B=150 cloc = ?_pF <.|ac-; oPl— Ye= 2.9.50
Re=5000 Rg2lSK Re=100 R = |K R, 2 2 K
Ci =4 Tuf Cy21000,FC, = 4TuF € = 22 pF

Find i-he net low and hish coto freq vencies,

Answers: ~87 la Ro,= 54K Ry, =1129Hs

npU‘(“) 1He ot T"
FC.Q?\Q'& q\- ,53 H2 ey:\\d e;‘}: 4—5‘]_9 ( e

Feby = L8Miz Rl = 08MB K, = 6.3 Mia

Clhf’d‘) (o-)ﬁ?«/‘)
Avl-22¢ Cinz FL7pF
ybt = 438
Rin = 339 _R

De sigh ‘oroUcu\: Determme C | Cpy#Cy oy
an FeQpet = 20 Hz

Answers;(stacdard valoe) € =474F ¢, 268008 C :.ség“E
20%.51= |0, 2Kt 538%@) (

Cale




Voo

@ r—”‘«} ' 2.2nF ISK 47#}:

e

| 47K <\

' l 2k 3%0,09

l A

ahr\o._ooo CoL-'p C c23pF
@‘Cﬂlcb Nk at\lrc-eo(i onaa__) 3

ntd Tthe pet [OW an A l’\\jL cufa’(p ‘pre.?uﬁm c!es

AV\SWZTJ: FC-‘Q[ —‘*____Wéclll Hé’ rcﬂz’ - Olép.g ITE
(thpet) (o utput)
F@_g,mgﬁ = 119 Hi Avl = —0,008 x |.5Kll2k =686

357

Cmller = 18cpF  Cunput = _0.8¢pF

it = 227 iz Rehe = G476 KHa
(lnpu‘(‘} (gdllpw'f‘)

DQS!SH Pro:ofcmz De‘terw\me C( d—C_& ’po'r* A

Fch‘t‘* 20 H3

Answers < (staud ard Mu&i) < 2l wF G > 39 uF

Zox (4= 11af3 = £



]‘ 1

F\no( zfl«e He,'é (ow a—mo( Lﬂsl« c,u'{’c)#? ‘p'\req,uehcl‘ef

Aw_\gf 'ﬂ!e»—

Answers : Fgy =S5 TH Fello= 3.8z Flx= (474

et middie last

flpet = Hz

Feni= 34Kl Rpy,=2436h R~ 158 ks

Rl i
Input middie lacs

Fc\,\hef,’-:{ 12,2 kila

D(-BJlsh pro\piew\: De:é@rr‘\mc CUC‘L,CB .-ﬂay, ay

Fegnet = 20 o, Determine g, s, Ce
'\QOT on Fc,lqy,ej{ = 20 KH;)_,

Answers (s4d valves) ng—wpc:a’c.)
Cl - I_Z[L,F C]_ T 5,3/“’:: C’B - é% .LbF_n
4= _L.SnF s = 4, 0nF ¢ = so nf
20 X0.512 10,288 R — vound ¢ up

20 kK2

o5

T 3L kg Fy — roumd C dowy



